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Adding with zero digits up to 100 #1

10472 = 21) 3245 =
97+ 7 = 22) 83 +40 =
10 4+ 62 = 23) 40 + 55 =
9457 = 24) 90 +29 =
40+3 = 25) 0+83 =
48 + 80 = 26) 50 + 92 =
67 + 8 = 27) 63470 =
44+ 20 = 28) T+ 58 =
0+ 53 = 29) 3+ 80 =
5495 = 30) 9241 =
64 + 80 = 31) 3846 =
60 + 50 = 32) 61+1=
53 + 80 = 33) 6+ 70 =
10 + 56 = 34) 99+ 0=
40 + 62 = 35) 045=
90 + 8 = 36) 82+ 20 =
60 4+ 29 = 37) 98420 =
1+65= 38) T3+5=
30+ 84 = 39) 49+ 100 =
66 + 90 = 40) 54+ 7=
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Adding with zero digits up to 100 #1 (Solutions)

10472 = 82
97+ 7=104
10462 = 72
9+ 57 =66
40+ 3 =43
48 + 80 = 128
67 +8=7T75
44 +20 = 64
0+53 =53
5+ 95 =100
64 + 80 = 144
60 4+ 50 = 110
53 480 =133
10 + 56 = 66
40 4+ 62 = 102
90 + 8 = 98
60 + 29 = 89
1+ 65 = 66
30484 =114

66 + 90 = 156
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32+5=37
83 4+40 =123
40 4 55 = 95
90 +29 = 119
0+83 =83
50 + 92 = 142
634+ 70 = 133
7+ 58 = 65
3+380 =83
92+ 1=93
38+ 6 =44
61 +1 =62
6+70 =76
99 +0 =99
O+5=25
82420 = 102
98 +20 = 118
B+5="T8
49 4100 = 149
4+ 7=061



